1. 14 %

2. FrE BT

(L R I GPS I IR F

SNy
X

B TH

WAL BEAR R 1 AT S T

)|

A AL M

=5

B (b AT e

T oOE i K 43,362,724 |m GireBis)
I S T 37,336,303 | GEzesidix)

B i T -1 230.6128 | (100 FiEfiits x 14)
%)

3T M L ENDUE 1,038,816 M (ligs®)

AR g2 T AR AT AR

= 1] %A
LU

BRIl ALT )

B4

A EERT SE AR
MR EREFEEE

W W

Noo® B RIS S SEAT A
3. A KL A T3E4AA8H 10305 i ELRERE ek B
e e | B % 1 m % 2 m
% ¥ 4 GRS omma | AHME B | Pk |meoems| e | Rz | AR K| PR | mesems| e | e o
s (BAAiL: F)(B) uoF Bk | /)X | R (A F)(B”) T SR |/ 1| SR
1| (BK) AR 100.0 24.5 30.0 154.5 41,000,000 @) @) 376.8292 O 47114 A BALE]
(M LE1%)

ALBFEL . ALE D D S 72K SHD 1105 D 1001CH Y T 5840 Th D,



EROR i =

EUMERIOMAI

1. # £ WL RGPS RETERE TS
2. FREEFERT il AEES BEBLEER
= &5
n & Ik H A T
x & 4 e RETERD T RIS AH® P
ﬁ%&uﬁ%%wﬁmﬂ <%§§> igﬁ wffﬂ S8 e
) (®=0+®) ©
(%) ARiE 245 245 15.0 15.0 30.0 245

(k1)




